2.0A.A.1: Use addition and subtraction within 100 to solve one- and two-step word problems

Write the answer in the box.

A 15 cm long straw is pet end to end with another straw that
is 17 cm long. What is the total length of the two straws?

Write the answer in the box.

1. Aline is 42 inches long. Kate continues it for another 33 inches.
How long is the line now?

2. Three friends add their money together. They have $40, $19 and $32.
How much money do they have altogether?

3. Uncle Ben has 35 animals in his farm. Uncle Joe has 23 animals in
his farm. How many animals do they have altogether?

4. A bag of apples has 38 ripe ones and 14 rotten ones. How many
apples are in the bag?

5. Ashley spends 48 ¢ on a candy and 99 ¢ on a gift bag. How much
money did she spend altogether?
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